Quiz 3 (20 minutes) July 31, 2015

“Answer the questions in the spaces provided. If you run out of room for an answer,
continue on the back of the page. Leave your answers in ezact form instead of decimal
approximations.

1. Let F = (3z2¢% +siny)i + (2z%e? + zcosy + 1)j be a vector field defined on all of R2.

(a) (2 points) Use the partial derivatives of the component functions to show that F' is conservative.
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(b) (1 point) Let Cy be the unit circle. Determine the value of
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(c) (4 points) Find a potential function for F, (ie., a function f such that F=V/).
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(d) (3 points) Let Cy be a curve given by 7(t) = cos ti + %t; for 0 <t < w. Compute :
/cﬁ.df.
n:ulwm/a/év/ f Aeeré/. © £ lf/w n "'f[‘
(F e g~ Se)
2 ) \'v/ </C‘
PeT) = (- //17-’-' ) [/) e ;(/)(/)

A\
N
y
.

)
{
Y




